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518 =Y 220-240V 518 = 220-240V
518 i 50/60 Hz 518 Fik 50/60 Hz
MM Bl e 850 W (230 V) MM EH I 850 W (230 V)
Z|c 37|15 3980 L/min E|CH 27|22 3980 L/min
Z|CH X7 [ 200hPa(230V) Z|cH X7 [ 257 hPa (230 V)
e Z5 Z2AM (EN 60335-2-690]| L= H) =i Z x| Z2IAM (EN 60335-2-690| =)
E|Ci 2E 82 AL 2o ZH 82 Sk7IE
Z|cH A2 T4 251 2000W (230 V) Z|CH A7 s Hot 2000 W (230 V)
= A FH 2850 W (230 V) = A xH 2850 W (230 V)
AU (E|A/Z(CH) 4.5 bar / 8 bar AU (E[A/Z(CH) 45bar/8bar
MMSA 4 2 MESA 4 1
A2 TE 55dB(A) anm=ens 54.3dB(A)
27 °F228kg 27 2F220kg
AZ|(WxHxD) 285 x 535 x 540 mm A7|(WxHXD) 275 % 535 % 540 mm
MM AAE LA /9 45mm /50 mm MM AR LA /2 45mm /50 mm
F2yd FE e
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AUZE TC2 2936-0000 AfURE TC 2935-0000
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